1. Upiši znak <, > ili = :
 a) 4.17 41.7                                      e) 5.28 6
 b) 57.28 57.175                               f) 0.5 0.49
 c) 68.103 68.17                               g) 0.3 0.31
 d) 34.59 4.61                                   h) 0.54 0.6


2. Izračunaj:
 a) 3.27 + 21.537 + 163.9
 b) 410.52 + 3.197 + 19
 c) 172.4 - 14.529
 d) 105.36 - 7.9
 e) 526 - 496.37

3. Izračunaj:
 a) 9.7 · 8.64                                 f) 54.6 ·100
 b) 7.93 · 807                                 g) 0.4 · 1000
 c) 28 · 0.603                                 h) 0.003 · 10
 d) 4.52 · 10                                   i) 62 ·100
[bookmark: _GoBack] e) 23.57 · 100                               j) 2.3 · 0

